Lecture 13 Oct 25,26. MAT 344 The Inclusion- Exclusion formula Suppose A and B are finite ects. AUB It is clear that $|AUB| = |A| + |B| - |A \cap B|$. (1) Indeed 1A1 + 1B1 counts the elements in A(1B twice, and to compensate one needs to subtract IAABI. None suppose C is another finite set. Then |AUBUC| = |(AUB)UC|= [AUB] +1C1 - [(AUB) () Cly ()). = (IAI + IBI - IAABI) + ICI - I(AUB)AC](again by (D). None (AUB) AC = (AAC) U (BAC). Putting it together we get $| (AUB) \cap c| = | (A\cap c) \cup (B\cap c) |$ = $|A\cap c| + |B\cap c| - |A\cap B\cap c| \quad (again by (1))$ Substituting the above in the relations (AUBUC) = (IAI + IBI - IA (IBI) + ICI - [(AUB) n'c], we get IAUBUCI = (AI+ IBI+ICI - IAABI-IAACI - IBACI + IAABACI. It is not hand to see, using the above formulas that inf D is yet another finite set · [AUBUCUD] = IAI+ IBI+ [CI+ 1D] - IANB) - [ANC] - IAND] $-|B\cap c| - |B\cap c| - |c\cap c|$ IANBACI + (AABAD) + IAACAD + | BACAD IANBACADI.

To see the above, wonte AUBUCUD = (AUBUC)UD, apply (1) (2) and (3) voung the relation (AUBUC)(D = (AND)U(BND)U(CND). The general result is Theorem (I-E formula version I): Let A, Az,..., An be finite sets. Then $|A_1 \cup \dots \cup A_n| = \sum_{k=1}^{\infty} (-1)^{k+1} \sum_{\substack{i=1 \\ i \leq i_1 < \dots < i_k \leq n}}^{k} |A_{i_1} \cap A_{i_2} \cap \dots \cap A_{i_k}|.$ Obernation: If n=1, the formula soups |A1| = 1A1 which is a tantology. If n=2, the formula |AIUA2]= |AII+1A21- |AINA2 which is really (1). If n = 3, the formula is IAIUA2UA31 = IA11 + [A2] + [A3] -]A, (A2] - [A, (A3] - 1A2 (A3] + [A, (A2 (A3) which is ②). Check that if n=4, you get formula (3). Hore is a reformulation of I-E version I. Version-II A I-E formula: Let A.,..., An be funite seta. $|A_1 \cup ... \cup A_n| = \sum_{\substack{\substack{i \in S \\ i \neq S \subset [n]}} (-i)^{|S|+i} | \bigcap_{\substack{i \in S \\ i \neq S \subset [n]}} A_i|.$ It is clear that the two versions are equivalent. The following is the most useful reformulation of the I-E forma Version II of the I-E formula: Let X be a finte set and $A_{1,...,}$ An entrope $A \times Then$ $|X - (A_1 \cup ... \cup A_n)| = \sum_{\substack{i \in S \\ S \in Cn}} C_{-i} |A_i| \cap A_i|.$ (What does (Aj mean?)

The convention is litest

$$\frac{1}{3 \notin A_{i}} = X.$$
Roof A equivalence of version II and II
Varion II => Version II:

$$|X - (A_{i} \cup ... \cup A_{n})| = |X| - |A_{i} \cup ... \cup A_{n}|$$

$$= |X| - \int_{0}^{2} \sum_{i=1}^{(-1)^{|X|-1}} |A_{i} \cap A_{i}| |A_{i}|$$

$$= |X| + \sum_{i=1}^{(-1)^{|X|-1}} |A_{i} \cap A_{i}| |A_{i}|$$
Now

$$X = \bigcap_{i \in \Phi} A_{i}^{i}.$$
Hence the get

$$|X - (A_{i} \cup ... \cup A_{n})| = \sum_{i=1}^{(-1)^{|X|-1}} |A_{i} \cap A_{i}|.$$

$$\frac{Verier II}{I} = Version II$$
Now

$$A_{i} \cap A_{i} \cap A_{i} \cap A_{i} \cap A_{i}|.$$

$$Verse (A_{i} \cup ... \cup A_{n}) = X - [X - (A_{i} \cup ... \cup A_{n})]$$

$$A_{i} \cup ... \cup A_{n}] = (X_{i} - [X - (A_{i} \cup ... \cup A_{n})]$$

$$= |X| - [I_{i} \cap A_{i}] + \sum_{i=1}^{(-1)^{|X|-1}} [A_{i} \cap A_{i}]].$$

$$= |X| - [X| + \sum_{i=1}^{(-1)^{|X|-1}} [A_{i} \cap A_{i}]]$$

$$= -\sum_{i=1}^{(-1)^{|X|-1}} [A_{i} \cap A_{i}].$$

$$= \sum_{i=1}^{(-1)^{|X|-1}} [A_{i} \cap A_{i}].$$

Proof of the I-E formula
bince all reminus are equivalent, it is enough to pose one
review. Let us prove version II.
The case where n=1 is obvious (and in pat we
observed this - see "Observation" after Version -I).
We will prove version II by widerther on n.
Suppose n=1 and we know the theorem for any
Y (B, U... U By), with Y a fointe set, By..., By subsets of Y,
and 16 r = n.
Linez A, U... UAN= (A, U... UAN-i) UAN, we have

$$|X - (A, U... UAN] = |X - ((A, U... UAN-i) UAN]$$

 $= (X[- |A_1 U... UAN-i] - |An] + [(A, U... UAN-i] MAX]$
bet
Bi = Ai (AAn, v = (s..., n-1.
Then By..., Bn-i are subsets of An, and the
above formula can be subsets of An, and the
above formula can be subsets of An, and the
above formula can be subsets of An, and the
 $|X - (A_1 U... UAN] = |X - (A_1 U... UAN-i] - |An - (B_1 U... UBN-i]].$
Lines I-E (Version III) is valid pr (n-1)- [dd unition
(by one induction linguillering), we get
 $|X - (A_1 U... UAN]| = \sum_{i=1}^{n} (-1)^{i+i} |A_i - \sum_{i=1}^{n} (-1)^{i} |A_i - \sum_{i=1}^{n} (A_i - A_i)|^{i+i} = (A_i - A_i) A_i$
 $A_i = (A_i) A_i$
 $= (A_i) A_i$
 $= (A_i) A_i$
 $= (A_i) A_i$

(-1)^{[3]-1} (-1) |1 | ∑[Tc [n] n∉ T | <u>Λ</u> Αύ | -| X- (A, U... U An) = Sc(m) nes (Aj) $S = T u \{n\}_j$ $T \subseteq [n-i].$ Z (-1)¹⁹¹ | () A; | SC [N] Ξ required 8 q.e.d.